

$$f(t) = 1 + y_1(t) + y_2(t) + y_3(t) + \dots$$

~~$$f(t) = 1 + y_1(t) + y_2(t) + y_3(t) + \dots$$~~

Filter equation

$$+ c_1 y_1(t) + c_2 y_2(t) + \dots$$

$$= P \frac{1}{(2/\tau)^2} \int_0^{2/\tau} (y_1(t) + y_2(t) + \dots)$$

$$y(t) = y_1(t) - y_2(t) + y_3(t) - \dots$$

Scan

1

ODE

So the general sol. of

III

Homogen

$$at^2 y'' + 1 + bty' + 1 + cy + 1 = 0$$

Try solution of form

$$y = e^{rt}$$

$$y'' = r(r-1)e^{rt-2}$$

$$0 = at^2 r(r-1)e^{rt-2} + bte^{rt-1} + c e^{rt} + 1$$

$$= t^a [at^2 - ar + b + c]$$

$$r = \frac{-b-a \pm \sqrt{(b-a)^2 - 4ac}}{2a}$$

$$y = e^{rt}$$

~

3 cases

$$(1) (b-a)^2 - yac > 0$$

$$(2) (b-a)^2 - yac = 0$$

$$(3) (b-a)^2 - yac < 0$$

$$(1) \quad x = x_+ \leq x_-$$

Start

$$x_+ = -\frac{(b-a)}{2a} + \sqrt{\quad}$$

$$x_- = -$$

$$y_1(t) = f_{x_+}$$

$$y_2(t) = f_{x_-}$$

both are ode

 $\sum y_i(t)$ linearly independent

(14)

$$(a^2 - b^2) - 4ac = 0$$

$$y_1(1) = \frac{-(-b-a)}{a-b} = \frac{a-b}{a-b} = 1$$

we method of reduction of order to find second

$$\text{Try } y(1) = y_1(1) = 1$$

$$0 = a^2 y'' + 2y' + y$$

$$+ b + \boxed{y_1} + \boxed{y_1} + \boxed{y_1} = 0$$

$$+ c y$$

$$= \boxed{a^2 y'' + 2y' + y} + c y$$

$$+ a^2 y'' + 2y' + y$$

$$+ b + y$$

$$[1 + 11 + 7] \times =$$

$$= + a \times 11 + \left[2 \times a + b \right] \times$$

$$+ b \times 1$$

$$\neq + a \times 11 + a \times 2 \times 1 + a \times 1 \times 1$$

$$+ b \times 1$$

$$0 = + a \times 11 + a \times 2 \times 1 + a \times 1 \times 1$$

$$y_1 = t_a = \frac{a - b}{a - b}$$

$$+ b \times 1$$

$$0 = a \times 11 + a \times 2 \times 1 + a \times 1 \times 1$$

so we have

$$y_{1+1} \geq t^x \quad y_{-1+1} = t^x \ln(t)$$

$$A_{150} \sim y_{1+1}.$$

$$= C \quad t^x \ln(1+1) + C_2 t^x$$

$$y_{1+1} = t^x \quad \left[C \ln(1+1) + C_2 \right]$$

$$\Rightarrow y_{1+1} = C \ln(1+1) + C_2$$

$$\frac{t}{y} = 1$$

$$\ln(1+1) = \ln(1+1) + C$$

$$\frac{t}{t p} = \frac{1}{t p}$$

$$t p = t p$$

$$0 = t p + t$$

more correctly

$$y_1(t) = t^x \quad y_2(t) = t^x \ln(t)$$

(17)

case 3

change of variables to make
Euler constant-coefficient

~~$$ay'' + by' +$$~~

$$at^2y'' + bty' + cy = 0$$

Try $y(t) = z(x)$

$$x = \ln(t)$$

$$t = e^x$$

look for CDE for z .

$$\frac{dy}{dt} = \frac{dz}{dx} \frac{dx}{dt} = \frac{dz}{dx} \frac{1}{t}$$

churcstic eq

$$a z^2 + (b-a) z + c = 0$$

$$a z^2 + \left[\frac{z}{z_1} \right] + b + c = 0$$

$$a z^2 \left[\frac{z}{z_1} - \frac{z}{z_2} \right] + b + c = 0$$

$$a z^2 y_1 + b + c = 0$$

$$\frac{z}{z_1} + \frac{z}{z_2} =$$

$$\left[\frac{z}{z_1} \left(\frac{z}{z_2} \right) \frac{z}{z_1} \right] + \frac{z}{z_1} + \frac{z}{z_2} =$$

$$\left(\frac{z}{z_1} \right) \frac{z}{z_2} + \frac{z}{z_1} + \frac{z}{z_2} =$$

$$\left[\frac{z}{z_1} \frac{z}{z_2} \right] \frac{z}{z_1} = (1 + \frac{z}{z_1})$$

1/2

$$\lambda = -\frac{(b-a)}{2a}$$

$$r = \lambda \pm \omega$$

$$\omega = \frac{\sqrt{(b-a)^2 - 4ac}}{2a}$$

As expected.

$$y_1(t) = z_1(x) = (e^x)^{\omega} = (t)^{\omega}$$

$$z_1(x) = e^{\frac{1}{\omega} x}$$

~~z_2(x)~~

$$r_1 \neq r_2 \quad r_1 \neq r_2$$

$$(b-a)^2 - 4ac > 0$$

$$\frac{1}{2ac}$$

$$r = -\frac{(b-a)}{2a} \pm \frac{\sqrt{(b-a)^2 - 4ac}}{2a}$$

$$ar^2 + (b-a)r + c = 0$$

for

210019

$$|1 + j\omega| = |1 + j\omega|$$

new box

210019

$$[1 + j\omega] \cos \omega = 1 + j\omega$$

$$|1 + j\omega| = |1 + j\omega|$$

$$|1 + j\omega| = |1 + j\omega|$$

210019

$$|1 + j\omega| = |1 + j\omega|$$

Recall last class

$$t^2 y'' + t y' + y = t^2$$

got a particular solution of form $y_p(t) = C_1 t^4$ known.

Try solution $y(t) = C t^2$

$$t^2 = t^2 y'' + t y' + C t^2$$

$$\Rightarrow 1 = 23C \Rightarrow y(t) = \frac{1}{23} t^2$$

is a particular solution.

②

Our mistake.

For variation of parameter

equation not de independent

form

$$y''(1+1) + p(1+y'(1+1) + q(1+1) = b(1+1).$$

so

$$y'' + \frac{1}{10t} y' + \frac{y}{10t^2} = \frac{1}{10} = f(1+1)$$

Standard form Now Apply

Variation of parameter

$\{y_1, y_2\}$ don't change, but

$$f(1+1) = \frac{1}{10} \quad \underline{\underline{\text{not}}} \quad f(1+1) = t^2.$$

3

Existence of solutions to
non linear ODE.

Consider find a solution of

$$y''(1+y) - 4y'(1+y) + 3y(1+y) = -(y(1+y))^2 \quad 0 \leq t \leq T$$

(0)

$$y(0) = 0$$

$$y'(0) = \phi$$

Try to apply fixed point argument
or try to write it as
integral equation.

Two Approaches

- (1) write AS integral equation.
- (2) solve with out using integral eq.

- (3) can write AS system of 1st order ODE's.

Approach 2

Consider the mapping $m(y) = \sqrt{y}$

by

$$\sqrt{y}''(1+y) - y(\sqrt{y})'(1+y) + 3\sqrt{y}(1+y) = -y(1+y)^{3/2} \text{ or } 7 = 7$$

$$\sqrt{y}(1+y) = 0$$

$$(\sqrt{y}(1+y))' = 1$$

Then if $m(y) = y$ then done.
So need to find fixed point of m .

Work on

$$M_n = \{y \in [0, T] : \max_{0 \leq t \leq T} |y(t) - 1| \leq 1/2\}$$

Note if $y \in [0, T]$ then $-y(1+y)^2$ is continuous. NEED to be able to solve linear eq.

$$2p \left[(2/4 - 1/2) \right] \frac{2e^{2z}}{2} \int_t^0 + e^{3t} +$$

$$2p \left[(2/4 - 1/2) \right] \frac{2e^{2z}}{2} \int_t^0 = (1/4 - 1/2) e^{3t}$$

If y_1 solves (1) with $f = f_1$
 If y_2 solves (1) with $f = f_2$
 then $y_1 + y_2$ solves (1) with $f = f_1 + f_2$

If y_1, y_2 solve $y'' + y' - y = 1 + t$
 then (1)

where C independent of T.

$$+ C T R.$$

(*)

$$|y(t)| \leq \frac{1}{2} |e^{3t} - e^t|$$

✓

ton

From this we see

if $0 \leq t \leq T$ $f(t) = 0$

$$+ e^{3t} \int_t^0 \frac{2e^{4\tau}}{2} d\tau$$

$$+ e^{3t} \int_t^0 \frac{2e^{4\tau}}{2} d\tau$$

$$+ e^{3t} - \frac{1}{2} e^{2t}$$

$$y(t) =$$

~~10/15~~

has a solution y

$$y(0) = 1$$

$$y(0) = 0$$

(1)

$$y'' + 1 - y' + 3y = f(t), \quad 0 \leq t \leq T$$

let

$$f \in [0, T], \text{ where } 0 < T \leq 1.$$

the linear theory

5

$$\sqrt{\frac{1}{2} \left(\frac{1}{2} + \frac{1}{2} - \frac{1}{2} \right)} = \frac{1}{2}$$

(+ +)

$$\frac{1}{2} \left(\frac{1}{2} + \frac{1}{2} - \frac{1}{2} \right) = \frac{1}{2}$$

C_2 independent of f_0 & $T \leq 1$.

We now try to show

$M: M_n \rightarrow M_n$ a contraction

$$M_n = \sum_{y \in C[0,1]^T} y \in C[0,1]^T: \text{max over } y \in C[0,1]^T$$

$$\frac{1}{2} \left(\frac{1}{2} + \frac{1}{2} - \frac{1}{2} \right) = \frac{1}{2}$$

$$\frac{1}{2} \left(\frac{1}{2} + \frac{1}{2} - \frac{1}{2} \right) = \frac{1}{2}$$



$$\bar{L} (C_2 T 2n) \text{ max } |y_2(1+y_1+1)| \text{ off } T$$

$$\text{max } |y_2(1+y_1+1)| \text{ off } T$$

$$\bar{L} (C_2 T) \text{ max } |y_2(2+y_1/2)| \text{ off } T$$

$$\bar{L} (C_2 T) \text{ max } |y_2(2+y_1/2)| \text{ off } T$$

then by $(*)$

have

contraction.

$$y_i' = M(y_i)$$

$$\bar{L} |e^{3T} - e^T| + e^T R^2 \leq R / I$$

so for $M(\beta_n) \subset \beta_n$ sufficient need $(*)$

II

To satisfy $I \leq II$ fix $n > 0$
 then pick ϵ to satisfy I
 then pick T smaller to satisfy

so need

$$C_2 T n \leq \frac{4}{3}$$

say II

$\leq (C_2 T n)$ may $\epsilon = T$

$$|y_2(1+1-y_1, 1+1)|$$

max $\epsilon = T$

$$|m(y_2)(1+1-m(y_1)(1+1)|$$

so

(6)

want to show $z \equiv 0$.

(5)

$$z(0) = z(1) = 0.$$

$$1 \leq t \leq n \quad 0 = 1 + z \left[(1+t) + \sum \right] + 1 + z h - (1+t)z$$

want

$$z(1) = z(2) = 0$$

$$z(z_1 + z_2) =$$

$$z(z_1 + z_2) =$$

$$z_1 + z_2 + z_1 z_2 = 1 + z \sum + 1 + z h - (1+t)z$$

$$z(1+t) = z_1 + z_2 - (1+t)z$$

let y satisfy (0) , set

uniqueness

110

⑪

$I + (3)$ has unique sol.

then $z = 0$ (since already $z = 0$ a solution)

Let z_1, z_2 solve (3) & let

$$w(t+1) = \det \begin{pmatrix} z_1 & z_2 \\ z_1 & z_2 \end{pmatrix}$$

$$w(t+1) = 1 + 1, M$$

$$Q = \frac{1 + 1, M - 1 + 1, M}{w(t+1) = z_1 z_2 - z_1 z_2} \Big|_{t=0} = 0$$

$$0 \leq t \leq T$$

$$\Rightarrow w(t+1) = 0 \quad 0 \leq t \leq T$$

$$\Rightarrow \{z_1, z_2\} \text{ linearly independent}$$

$$0 \sim [0, 1]$$